7|3 AEZEU G A
719 - AR E S S X9 (Sl @ H9)
Bopnzm R 9 A - Apeluj el == P 12579 | 20184 714 | 2018 HF
Abel A} A (B) o 2k (A) o AH(A+B)

37 10,810,875 88,525,012 99,335,887
aZs 10,810,875 88,525,012 99,335,887
ol 2xF5 oS 10,627,498 84,530,296 95,157,794
AAIL S £46,286 3,434,932 3,388,646
77 ¢ B2 9 A}7] A = £ 46,286 3,388,327 3,342,041
AL ENA L £ 46,286 3,388,327 3,342,041
1. AFEATALI A A Y £46,286 3,384,327 3,338,041
7}, WA TEAFQl A H] %] 9 ~46,286 3,384,327 3,338,041
D 71 110-04 1,657,600 %92 x129= 37,616 1,792,384 1,830,000
2) A7 2RI 110-04 327,890 x92% x129= ~12,340 374,340 362,000
3) A shE) B %2} 110-04 |385,4109 %129 x4%7]= 6,510 11,990 18,500
4) FAm 110-04 [123,1809 %929 x 129 = A7,520 143,520 136,000
5) Ax}=gt 110-04 |1,195,6509 <921 = AT7,294 117,294 110,000
6) ™A F 7 110-04 500,000 x 917 x 23] = A1,000 92,000 91,000
7) A7) o] 110-04 (298,310 X897 x 23] = 7,100 46,000 53,100
8) mE3dE x| 240-02 |398,1509 x 1087 = 6,200 36,800 43,000
9) ¥A= 320-12 |3,369,560¢1 %921 = 760,043 370,043 310,000
10) Zulad= 320-12 89,0809 x 92 x12¢ = 719,032 117,377 98,345
11) xQ1A7]) QokR 3 320-12 |5,7409 %928 x 129 = 1,111 5,229 6,340
12) 2853 320-12 |34,87091x929 x 129 = A626 39,126 38,500
13) AR 320-12 |21,6409 %928 x12¢ = 3,032 20,868 23,900
A - &TER Y 1,788,465 5,753,207 7,541,672
SFALEIE £15,905 447,832 431,927
Exg S asstsEayd 215,905 406,479 390,574
1. E3a8xgdAELY 15,905 406,479 390,574
7h A AR ZAEZ TS AE S 15,905 172,473 156,568
1) AXx =9l 7N ~15,905 23,858 7,953
7} <l AH] 110-03 [590,0009 X 1% x 108 = A11,800 17,700 5,900
) 324 110-03 48,0009 x 18 x 10¥= 27960 1,440 480
b WA FI 110-03 |500,0009 x 17 x 28] = A2,000 3,000 1,000
2}) @8 E A n) 240-02 |400,0009 x 1% = A800 1,200 400
np) 18153 320-05 |6,900,0009 x 1.5%= ~207 311 104
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(9] - )

- Apelg el = R 12+ 9 | 201849 714 | 20184 HF
A o s (B) S AH(A) A (A+B)
Hh) A K3 320-05 16,900,000¢ x 1%= A138 207 69
5,550 1,268,005 1,273,555
ul AP B Z AL 5,550 608,450 614,000
1. Yol R Z WAL AH] 5,550 592,936 598,486
7} A GFA ok 2+ 210-15 |300,0009 x 109 = 600 2,400 3,000
U, 237 210-15 |1,650,0009 %118 = 4,950 13,200 18,150
3= 9 1,900 47,637 49,537
R i 7 = R PN 1,900 43,717 45,617
1. A FARE- 1,900 41,865 43,765
7}, 7} EHA B AL A H] 1,900 41,865 43,765
D 715 110-04 11,643,650 %1% x129= 500 19,224 19,724
2) A7) 110-04 300,000 x 1% x 23] = 100 500 600
3) ¥A= 320-12 |3,858,0009 x 1= 1,300 2,558 3,858
AS a2 1,786,920 2,666,840 4,453,760
A AR AAANA 1,786,920 1,960,060 3,746,980
1. g A SA 2 #E 1,786,920 1,960,060 3,746,980
7 AR 2ok R A A 168,100 168,100
1) A]dn] 168,100 168,100
7h 2 EE A~ 2 h) 420-03 |930,000¢ X 170m= 158,100 158,100
W) 71EANAH AN 420-03 |10,000,000¢ x 14 = 10,000 10,000
u ARS ORI A A 235,200 235,200
1) A]Adn) 235,200 235,200
7h 2EE A~ ) h) 420-03 |1,140,000¢ X 180m= 205,200 205,200
) 71E0 A AN 420-03 |30,000,0009 x 14]= 30,000 30,000
o, FAPG RO PR F AN F 200,400 200,400
1) AAMn 420-02 |177,600,0009 X 7.385%= 13,115 13,115
2) Al 182,600 182,600
7 FAA = 420-03 |1,376,0009 X 100m'= 137,600 137,600
W) 7] 2R 7 B FAM] 420-03 |40,000,0009 x 12] = 40,000 40,000
h) SE=A2An) 420-03 |5,000,000¢ x 124]= 5,000 5,000
3) 7ha)n) 420-04 |177,600,0009 X 1.848%= 3,282 3,282
4) A AR 420-05 |177,600,000€ X 0.79%= 1,403 1,403
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714 - AR ST A RS A A (gFo] ;29
Hopr 3 3 9] A - Apeluj el == NESTE 1257 4 20184 714 | 20184 HF
Abel A} A (B) o 2k (A) o AH(A+B)

2} FAL RO A A A = 45,290 45,290

1) A AN 420-02 |843,500,0009 X 5.37%= 45,290 45,290

nb AR 2 OHEA A S B A 69,640 69,640

1) A Am] 420-02 |1,494,200,000¢] % 4.661%= 69,640 69,640

v, AP SO R AW AS AN A 35,000 35,000

1) AlAH] 35,000 35,000

7h 2EG AL 420-03 116,487,000 x 12]= 16,487 16,487

) 7= A~H AN 420-03 |2,750,0009 x 14 = 2,750 2,750

o) Z A 420-03 |250,0009 x 247]= 6,000 6.000

Zh) HoAA 420-03 19,763,0009 x 14 = 9,763 9,763

Ab AR A EH G A ) S 773,290 773,290

1) A AN 420-02 727,402,000€ X 4.2904%= 31,209 31,209

2) A’y 727,402 727,402

7hH SEFAEgHE A 420-03 |1,376,0009 X 198m'= 272,448 272,448

) A A 420-03 |1,376,0009 X 99m'= 136,224 136,224

oH AR A 420—03 84,750,000 x 12 = 84,750 84,750

2 A 420-03 1121,080,0009 x 14 = 121,080 121,080

vh) A 420-03 |56,450,0009 x 24 = 112,900 112,900

3) 7+ H] 420-04 |727,402,0009 X 1.339%= 9,740 9,740

4) ARy 420-05 |727,402,0009 X0.679%= 4,939 4,939

o, thE-A A & 7] A 2 260,000 260,000

1) #AbgE = 130,000 130,000

7P 20-30mE A E7| 2 A ¥ 420-03 [1,719,0009 X358 = 60,160 60,160

W) 25-29mEIAYET]| A F 420-03 11,940,0009 X 368 = 69,840 69,840

2) A EF 130,000 130,000

7P 28mEAYET| AT 420—-03 [1,940,0009 X 67¥= 130,000 130,000

AP EA = 10,000 44,348 54,348

PG =2 ¢ 10,000 38,124 48,124

1. AL H A 10,000 4,754 14,754

7F b WS- 10,000 10,000

1) oFH F 3t ~E|H L 210-13 |10,000,0009 x 17] 3= 10,000 10,000

ASEXA Y 1,372,427 20,897,067 22,269,494
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(9] - )

53

2018 7174

2018 #H=F

A A LEHS ®) AAHA) | oIAHA+B)
1,318,426 17,055,173 18,373,599
RS B 1,318,426 17,055,173 18,373,599
1. sojzraFa ~23,116 1,302,029 1,278,913
7F x4 620—03 113,034,000 = A6,372 119,406 113,034
U 258y 620—03 |757,294,000¢= A4,776 762,070 757,294
o}, Zdw 12,356 275,855 288,211
1) 3¢ 620-03 |272,510,0009= 9,063 263,447 272,510
2) A 620—10 15,701,000 = 3,293 12,408 15,701
g nSsty A24,324 144,698 120,374
1) 39 620—03 120,374,000 = A24,324 144,698 120,374
2. EAR AR ZF4 1,669,185 12,779,734 14,448,919
7F 214 620—03 | 354,535,000 = A22,417 376,952 354,535
U 258y A47,714 5,797,603 5,749,889
1) =9 610—01 214,526,000 = A8,154 222,680 214,526
2) 29 620—03 |5,535,363,0009 = A 39,560 5,574,923 5,535,363
o} =aw A81,398 3,840,326 3,758,928
1) 3¢ 620—03 |2,880,985,000¢ = AT73,410 2,954,395 2,880,985
2) AH 620-10 |877,943,0009= AT7,988 885,931 877,943
2}, 1538y 1,822,974 2,669,435 4,492,409
1) 29 620—03 |2,611,706,000¢= 1,028,133 1,583,573 2,611,706
2) A 620—10 |1,880,703,0009 = 794,841 1,085,862 1,880,703
0}, B2y ~2,260 95,418 93,158
1) 3¢ 620—03 193,158,000 = A2,260 95,418 93,158
3. A2E2A4YEAX4¢ A175,950 821,760 645,810
7} n5sw A89,661 735,471 645,810
1) =29 620—03 |420,090,000¢= A60,819 480,909 420,090
2) AH 620—10 | 225,720,000 = A28,842 254,562 225,720
U 158ty (rmAEH) A 86,289 86,289
1) =29 620-03 09= A59,784 59,784
2) A 620—10 09= A 26,505 26,505
LS FE 2 EH A XY A104,119 762,925 658,806
7F x4 620—03 21,697,000 = A3,902 25,599 21,697
W — ot 2T NS — LHFEAA FAAY - TS A 4/13




AR X % (9] - )

© = 2= A ol A=
1:’1"‘4 Aﬂ‘l‘ }\]_(ﬁLHQ_Ig %—A—ﬂ% }?‘%Lﬁgﬂﬂ 17(]"?‘7519—1 20181& 7]@ 2018]{3 5’ <)
AFA AHA (B) o AH(A) o4k (A+B)

U 238k A51,872 359,389 307,517

1) =9 610-01 |8,582,000¢9 = 1,353 9,935 8,582

2) 39 620-03 298,935,000 = A50,519 349,454 298,935

t}, =skw A20,568 174,840 154,272

1) 3¢ 620-03 |125,024,0009= A17,149 142,173 125,024

2) AH 620—-10 |29,248,0009 = A3,419 32,667 29,248

g nEsy A27,298 199,403 172,105

1) 39 620-03 |103,165,000= A17,266 120,431 103,165

2) AF 620—10 68,940,000 = ~10,032 78,972 68,940

o}, E5=8ky 620-03 |3,215,0009 = A4T9 3,694 3,215

5. 38R -FAEA Y A47,574 1,388,725 1,341,151

7F 214 620-03 |36,487,000¢ = ~2,137 38,624 36,487

U 258y A1,189 551,123 549,934

1) =9 610—-01 |15,347,0009 = A583 15,930 15,347

2) 29 620-03 |534,587,0009= A606 535,193 534,587

o} =aw A6,945 363,802 356,857

1) 3¢ 620-03 289,227,000 = 6,634 295,861 289,227

2) AFd 620—-10 |67,630,0009= A311 67,941 67,630

g} 158w A37,261 427,054 389,793

1) 3¢ 620-03 |225,748,0009= A32,174 257,922 225,748

2) A 620-10 |164,045,0009= 5,087 169,132 164,045

nl, &8y 620-03 8080000 = A42 8,122 8,080

AR Y 54,001 1,810,320 1,864,321

I A Y 54,001 1,810,320 1,864,321

1. 2587 7 A FAA Y 117,576 1,032,556 1,150,132

7F =253t 620-03 |1,150,132,0009 = 117,576 1,032,556 1,150,132

2. 2 A TR Y A63,575 777,764 714,189

7} ¥y Esw 620-03 |570,610,0009= A62,372 632,982 570,610

U A =ska 620—-10 (143,579,000 = A1,203 144,782 143,579

A /A% EF 1,762,345 1,006,612 2,768,957

27 1,762,345 957,194 2,719,539

st FA A NA 1,762,345 915,964 2,678,309
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(9] : 2 9)

539

2018 7174

2018 #H=F

AT S ®) SHA) | SRHALE)
LS FA 7| DA E = 1,762,345 915,964 2,678,309
7F 3AA 2 | st 433,096 674,185 1,107,281
1) Akubokf-2] A 2 8 gl 10,222 10,222
7H A]AH] 1,708,000¢ X 85.5m' X 7%= 10,222 10,222
2) A=A F 22,222 22,222
70 A Am] 370,880,000 X 5.99%= 22,222 22,222
3) TAbF A G TS A 93,343 93,343
70 A Am] 84,280,000 X 4.1%= 3,456 3,456
L) A]AdH] 84,280 84,280
(1) =84 204,5609 X 163m'= 33,344 33,344
(2) Ar 204,560 X 249m'= 50,936 50,936
o) Al Efu] 84,280,000 X0.72%= 607 607
) 7]F+o]AdH] 5,000,000 X 1 1= 5,000 5,000
4) topdx2AAgde 2 A 68,757 68,757
71 A AM] 61,488,0009 X 8.84%= 5,436 5,436
) A]AdH] 1,708,000 X 60m’ X 60%= 61,488 61,488
th Al E ] 61,488,000€ X 2.98%= 1,833 1,833
5) TARZT 2T 20,837 20,837
7H A1d8] 20,837,0009 x 14 = 20,837 20,837
6) A F Y] A 14,340 14,340
7H A1A2H] 7,170,0009 x 22] = 14,340 14,340
7) TARE 2GS WA 71,700 71,700
7H A1A28] 7,170,000¢ X 102 = 71,700 71,700
8) A& Q]=ro] 1Y ttr]| w A 50,190 50,190
7H A128] 7,170,000 X 72 = 50,190 50,190
9) At RIS 69,385 69,385
70 A Am] 1,476,283,0009 X 4.7%= 69,385 69,385
10) =2 A E WA w A 12,100 12,100
7hH A|AdH] 12,100,0009 x 14 = 12,100 12,100
15 = REa bl 64,372 64,372
1) A 64,372,000 = 64,372 64,372
o 2 FALFA TS 33,708 33,708




(9] : 2 9)

Bopnzm g3 9l Al - Apeluj el B P 157 | 20189 714 | 2018 HF
Abel A} A (B) o 2k (A) o AH(A+B)
1) AP 620-03 |33,708,000¢1= 33,708 33,708
o} =27 G A| 1,231,169 241,779 1,472,948
1) 4x¢ 620-03 |15,595,00091= 15,595 15,595
2) =5 620-03 |918,127,000¢= 798,077 120,050 918,127
3) 8w 165,661 47,415 213,076
7hH ¥ 620-03 |203,456,000¢9= 161,151 42,305 203,456
) AHA 620-10 |9,620,000¢1= 4,510 5,110 9,620
4) 15w 251,836 74,314 326,150
7hH 34 620-03 |245,018,0009= 181,116 63,902 245,018
) A 620—10 |81,132,0004= 70,720 10,412 81,132
A A A L 921,655 31,439,312 32,360,967
gAY 832,841 21,123,510 21,956,351
gt w-2-gu| A Y 832,841 21,123,510 21,956,351
1. st@ 7)1 EL8-4H| 662,841 20,752,667 21,415,508
7} Sx9 620—-02 |1,965,267,000¢1= 36,325 1,928,942 1,965,267
U 253w 620—02 14,216,315,0009= 461,389 13,754,926 14,216,315
o e 620—-02 |5,233,926,000¢1= 165,127 5,068,799 5,233,926
2. st 71ele-gu|x ¥ 170,000 370,843 540,843
7}, THE A A S g 8] E ) 120,000 120,000
1) 2535ty 620-04 |60,000,000¢1= 60,000 60,000
2) =8k 620-04 |60,000,000¢= 60,000 60,000
[BER=N PARDIR-RE| =i 50,000 50,000
1) 258t 620-04 |50,000,000¢1= 50,000 50,000
AbstA A =) A 88,814 10,315,802 10,404,616
QAN AR A A 46,820 8,802,030 8,848,850
1. QA8 AR AT R ZE 46,820 8,802,030 8,848,850
7F A8 A Y 620—08 |8,848,850,000¢1= 46,820 8,802,030 8,848,850
Gu| AR AT Y 41,994 1,513,772 1,555,766
P AR FAT R T 41,994 1,380,646 1,422,640
7}, w7 B89 H] 620—09 [1,422,640,000¢= 41,994 1,380,646 1,422,640
st A S ANAAA 4,828,892 21,999,166 26,828,058
A RS AR ] 1,427,323 620,729 2,048,052
W = FoPRl 2T T g - St S A NAAE — St dRkAld 7/13




718 - AR E A S A 9 F (cFe] : 19
wofmz 38 | 29 | AF A 2 A= . X539 | 2018 719 | 2018 A%
AFA AFA AHA (B) oA AF(A) A4k (A+B)
St A S ANF 1,427,323 620,729 2,048,052
1. 3dFS 1,347,739 430,723 1,778,462
7}, EA R EH U ANE 611,804 611,804
1) A AN 420-02 |565,440,0009¥ X 5.63%= 31,842 31,842
2) Al/dH] 565,440 565,440
7H =A% 420-03 |1,377,0009 X108m'= 148,716 148,716
) WA 420-03 [1,377,0009 X52m'= 71,604 71,604
h 344 420-03 |121,080,0009 x 14 = 121,080 121,080
) AEAH AN 420-03 |128,0009 x330m'= 42,240 42,240
) AdEE 420-03 |1,590,0009 X 20m= 31,800 31,800
vh) 7] 2 H 740 420-03 |150,000,000¢ x 14 = 150,000 150,000
3) 7+an 420-04 |565,440,0009 X 1.86%= 10,517 10,517
4) A Eon] 420-05 |565,440,0009 x0.71%= 4,005 4,005
U AF2ATNSS 92,753 92,753
1) 2 A 420-02 (84,675,000 X 8.586%= 7,270 7,270
2) Al/dH] 84,675 84,675
7hH Al 420-03 |28,225,0009 x 34 = 84,675 84,675
3) Al F-on] 420-05 |84,675,0009 X0.954%= 808 808
o TARS ARG AT S 137,978 137,978
1) 2 A 420-02 |127,510,000¢ x8.21%= 10,468 10,468
2) A]Adn] 127,510 127,510
7H Fx}Ao) A 420-03 (239,000 X470m'= 112,330 112,330
W) iz A 420-03 |253,0009 X 60m= 15,180 15,180
g}, Yz EogE820= 505,204 505,204
1) A AN 420-02 |465,841,0009 %X5.81%= 27,065 27,065
2) A]Adn] 465,841 465,841
7hH <okl 420-03 [1,377,0009 xX137.7m'= 189,475 189,475
) Aagd 420-03 |1,708,0009 X 91.8m'= 156,794 156,794
o) AEHA 420-03 [130,0009x112.4m'= 14,612 14,612
) &dolEEA 420—03 [64,0009 X 160m'= 10,240 10,240
v 7]z K 7] 420-03 [30,000,0009 x12]= 30,000 30,000
v HuojA] b 420—03 [64,720,000¢9 x 14 = 64,720 64,720
TE - FolUEFTRLS - FRAFIANAANA - guduAd - SaAEFAS 8/13




(9] Q)

Aol el B P A7 9 | 20181 714 | 2018 HF

(B) o AH(A) JAH(A+B)
3) 7+gln] 420—-04 |465,841,000¢ X1.92%= 8,944 8,944
4) A2 420-05 |465,841,0009 X0.72%= 3,354 3,354
2. A EEEHA 8,192 9,085 17,277
7h AR ok F A A E A 8,192 8,192
1) A]AH] 8,192 8,192
7P oF-H-E A A A A 620-04 |8,192,0009 x 14} = 8,192 8,192
3. A 71,392 180,921 252,313
7b A A 2 0S5 71,392 71,392
1) A|AH] 71,392 71,392
7h F37])Z2H 73] 420-03 [71,392,0009 X124 = 71,392 71,392
3,401,569 18,874,793 22,276,362
TEIHENA 3,401,569 18,874,793 22,276,362
1. IAF A 273,152 6,659,943 6,933,095
7}, vk 91,245 1,416,148 1,507,393
1) A]Adn] 91,245 1,408,649 1,499,894
7 oz 420-03 18,690,000 x8.54 = 73,865 73,865
W) g x 420-03 [8,690,0009 x 24 = 17,380 17,380
o 181,907 37,005 218,912
1) 2 A 420-02 [122,900,000¢ X 7.85%= 9,650 9,650
2) AlAdH] 171,225 37,005 208,230
7hH FAE 420-03 |12,615,0009 x 32 = 37,845 37,845
B D e = 420-03 22,230,000¢ X 62 = 133,380 133,380
3) A FH) 420-05 122,900,000 X 0.84%= 1,032 1,032
2. FFAIENA 89,640 19,640 109,280
7} s Ald 50,000 50,000
1) Agexzs 420-03 |50,000,0009 x 124]= 50,000 50,000
U E IR A EHE w A 39,640 39,640
1) TARRIE R 420-03 |39,640,0009 x 14 = 39,640 39,640
3. Al et A 2,477,884 5,297,806 7,775,690
7h WA R 94,950 1,910,595 2,005,545
1) YA SH /I AZ=89n 94,950 74,096 169,046
7 ApokE 420-02 |41,540,0009 x 14 = 41,540 41,540

m
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o7 (91 A9

A el o= Bl 1A574<4 [ 201849 714 | 20184 A=
A B T e (B) A (A) JAH(A+B)
) 9= 420-02 153,410,000 x 14 = 53,410 53,410
. A (A1) A 2,182,260 1,909,812 4,092,072
1) A]%dn] 2,182,260 1,896,730 4,078,990
7h bz (GHEA w ) 420-03 |11,470,0009 x 32 = 34,410 34,410
) 9 (e ) 420-03 |11,470,0009 x 74 = 80,290 80,290
o) Ayxx 420-03 |11,470,0009 x 72 = 80,290 80,290
) o= 420-03 11,470,000 x 192 = 217,930 217,930
nh) AR R 420-03 |11,470,0009 x 164 = 183,520 183,520
vh TFARA S x 420-03 |11,470,0009 x 164 = 183,520 183,520
AP AA &% 420-03 | 11,470,0009 x 42 = 45,880 45,880
o) & 1% 420-03 |11,470,0009 x 621 = 68,820 68,820
2p) &= 420-03 |11,470,0009 x84 = 91,760 91,760
2h) ks AL 420-03 |11,544,0009 x 402 = 461,760 461,760
7h AT 420-03 [11,470,0009 x 74 = 80,290 80,290
Ep Ak Ak 420-03 11,470,000 x 222 = 252,340 252,340
3 A& 420-03 |11,470,0009 x 284 = 321,160 321,160
sh) abEar 420-03 |11,470,0009 x74= 80,290 80,290
o gH A125,148 125,148
1) A Am] 420-02 |09= 74,398 4,398
2) Al ~120,750 120,750
7H AR % 420-03 |09= A120,750 120,750
2}, 71El R 325,822 511,010 836,832
1) el AA 93,600 93,600
7hH Ak x 420-03 |7,200,000¢ x 37} 2= 21,600 21,600
W) #AE= 420-03 |7,200,0009 X 107h 4= 72,000 72,000
2) A5 A 232,222 232,222
70 A Am] 420-02 |214,840,0009 X7.31%= 15,702 15,702
L) A]AdH] 214,840 214,840
1) Ax=x= 420-03 [164,0009 x1,310m'= 214,840 214,840
) A En] 420-05 |214,840,0009 x0.78%= 1,680 1,680
4, JFIAAHNA 133,713 1,001,875 1,135,588
7}, w2 10,120 83,490 93,610

m
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(9] - )

=39

2018 7174

2018 #H=F

AP S e ®) SHA) | SRHALE)
1) Aldn] 10,120 83,490 93,610
7h &bz 420-03 |253,0009 X 40m= 10,120 10,120
15 e ] 48,000 88,000 136,000
1) TARSE xR 420-03 |48,000,0009 x 14 = 48,000 48,000
= e s 63,329 63,329
1) AlAH] 63,329 63,329
b FAaeg-x 420-03 63,329,000 x 12 = 63,329 63,329
2t 23 HdA 12,264 12,264
1) GEx 620-04 |5,120,0009 x 14 = 5,120 5,120
2) JMok=Zx 620-04 |1,000,0009 x12]= 1,000 1,000
3) FARRFOF= 620—04 |6,144,0009 x14]= 6,144 6,144
5. A7 A A 355,100 1,452,956 1,808,056
7} 2 A4 (LED) 355,100 1,292,426 1,647,526
1) AlAdn] 355,100 1,285,250 1,640,350
7h A 420-03 |09= A148,400 148,400
) AR (THE A ) 420-03 |2,650,0009 x 34 = 7,950 7,950
o) dAbE () 420-03 |2,650,0009 x 72 = 18,550 18,550
2} HrEx 420-03 |2,650,0009 x 74 = 18,550 18,550
) Fokx 420-03 [2,650,0009 %194 = 50,350 50,350
vh) AT X 420-03 |2,650,0009 x 1624 = 42,400 42,400
AR ARA 2 2 420-03 2,650,0009 x 164 = 42,400 42,400
op) AAIE=x 420-03 2,650,000 x 44 = 10,600 10,600
2P &Fx 420-03 |2,650,0009 x 62= 15,900 15,900
2P &pt= 420-03 |2,650,0009 x84 = 21,200 21,200
7h ks 420-03 |2,650,0009 x 402 = 106,000 106,000
Ep) abdar 420-03 |2,650,0009 x 74 = 18,550 18,550
b)) FAkeI Ak 420-03 |2,650,0009 x 222 = 58,300 58,300
3 AdEL 420-03 |2,650,000¢ X282 = 74,200 74,200
A) FAPE 420-03 [2,650,0009 x 74 = 18,550 18,550
6. AAFSA (AH) 69,520 204,500 274,020
7}, e aparse 69,520 69,520
1) FAA = 620—11 8,690,000 x84 = 69,520 69,520

m
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i Ik et A R (9] ")
Hopr 3 3 =+ A - Apeluj el == NESTE 1257 4 20184 714 | 20184 HF
A A A (B) o AH(A) JAH(A+B)
7. JHEIAFMNA AHH) 2,560 0 2,560
7b 23 E A 2,560 2,560
1) FAAd = 620-11 |2,560,0009 % 14]= 2,560 2,560
TELyk 183,377 3,818,832 4,002,209
T3 Al 90,164 3,145,124 3,235,288
A7 40,964 70,666 111,630
T HAAUEZ 7 40,964 70,666 111,630
1. 5 - FFAAEE 20,000 8,440 28,440
7V AN =S r R 210-01 |2,875,0009 X 83]= 20,000 3,000 23,000
2. 7584 20,964 0 20,964
7}, =5 620-03 |16,664,0009= 16,664 16,664
U, zew 620-03 |4,300,00091 = 4,300 4,300
sHAYul X A| & 49,200 2,437,357 2,486,557
A u)) x] A B 2] 49,200 1,797,357 1,846,557
1. 8 2Xx 4 49,200 1,663,911 1,713,111
7F FolR s & 620—-03 [100,000€9 X 49271 = 49,200 49,200
7139 7 63,879 673,708 737,687
PEEXR 3,106 540,122 543,228
DA LAY 3,106 540,122 543,228
1. #4714 7| 3,106 238,124 241,230
7}, we-= 9w 3,106 69,940 73,046
1) Lure-odn 416 9,520 9,936
7hH el 210-01 | (416,0009 X 207) + (208,000 x 2) = 416 8,320 8,736
2) o) 2,690 48,000 50,690
7h # 220-01 | (20,0009 x 207 x 493]) +(20,000¢1 x 278 x 302]) = 1,200 19,600 20,800
W =4 220—01 | (40,0009 x 207 X 323]) + (40,0004 x 29 x 173]) = 1,360 25,600 26,960
th ©9) 220-01 | (70,0009 x 20 % 23]) + (70,0004 x 2 x 15]) = 130 2,800 2,930
TS WA 7| BA A 60,773 133,586 194,359
TSR AL He 60,773 133,586 194,359
1. SR YA A 60,773 133,586 194,359
7F A S K] A AL 8,690 8,690
1) A]Adn] 8,690 8,690
W - HAN - 71 G A - wSF Y7 BAE - w5H DAL B 12/13




713 - A E RS AR S A 9 (Sl @ H9)
T"?_‘O]:l?‘% 7@2114 %‘ﬂ kﬂl?‘ }\]_(ﬁLHQ_]:] E—A—]IE }\]_%LHO;] _}'72‘7519114 20181& 7]@ 2018]5_ 31%
RS Abel A} o v - (B) of| A+ (A) | AH(A+B)

7h ZupeApuras 420-03 |8,690,0009 x 1 4= 8,690 8,690

. AR o A E A 52,083 52,083

1) A Am] 420-02 |47,800,000¢1 X 8.96%= 4,283 4,283

2) Al 47,800 47,800

7H AT Z) 7 2 A 420-03 |239,0009 X 200m' = 47,800 47,800

of v H] L 7] €} 29,334 0 29,334

o uv| L 7] et 29,334 0 29,334

AAE=TE 29,334 0 29,334

1. AAZST 29,334 0 29,334

7F. A A A B F A 7 nkgk 29,334 29,334

1) A SA A 7 710-02 |29,334,00091= 29,334 29,334

W5 — WSURE - ouH|L e — uH|Y e - AAETF 13/13




